Further Practices


Further Practice 10.1A
Basic

1. Use a calculator to find the value of each of the following. Give your answer correct to 3 significant figures if it is not exact.
(a)
tan 47°  


(b)
tan 78°  
 (c)
tan 36.5° 


 (d)
tan 2.75°
2. Use a calculator to find [image: image2.png]


A for each of the following. Give your answers correct to 1 decimal place.
(a) 
tan [image: image4.png]


A = 0.742  

 (b) 
tan [image: image6.png]


A = 1.31  
 (c) 
tan [image: image8.png]


A = 1.87  


 (d) 
tan [image: image10.png]


A = 3.29
Intermediate

3. For each of the following triangles, calculate [image: image12.png]


x. Give each answer correct to 1 decimal place if it is not exact.
(a)





[image: image13.jpg]3.2 Ccm

4.7 cmM




(b)




[image: image14.jpg]5.12 cm

2.85 cm




(c)

 [image: image15.jpg]4.8 cm

/.6 cm




 


Challenging

4. For each of the following triangles, calculate [image: image17.png]


x. Hence, calculate [image: image19.png]


y. Give each answer correct to 1 decimal place if it is not exact.
(a)










[image: image20.jpg]6.5 cm

/.8 cmM




(b) 

[image: image21.jpg]2.25 cm

/.1 cm




(c) 

[image: image22.jpg]



5. The diagram below shows a right-angled triangle ABC.
[image: image23.jpg]/.87 CcmM

5.23 cm





(a) 
Find the length of AC, giving your answer correct to 3 significant figures.
(b) 
Hence, calculate [image: image25.png]


ABC, giving your answer correct to 1 decimal place.
Further Practice 10.1B

Basic

1. Use a calculator to find the value of each of the following. Give your answer correct to 3 significant figures if it is not exact.

(a) 
sin 26°  

(b)
sin 57°  
(c) 
sin 3.4°  
(d) 
sin 98°
2. Use a calculator to find [image: image27.png]


A for each of the following. Give your answers correct to 1 decimal place.

(a) 
sin [image: image29.png]


A = 0.666  

(b)
sin [image: image31.png]


A = 0.287  
(c)
sin [image: image33.png]


A = 0.198  
(d)
sin [image: image35.png]


A = 0.924
Intermediate

3. For each of the following triangles, calculate [image: image37.png]


x. Give each answer correct to 1 decimal place if it is not exact.

(a)






[image: image38.jpg]2.8 cm

6.4 cm




(b)


[image: image39.jpg]5.5¢cm

1.2 cm




 (c)

[image: image40.jpg]12.78 cm

8.42 cm




Challenging
4. For each of the following triangles, calculate [image: image42.png]


x. Hence, calculate [image: image44.png]


y. Give each answer correct to 1 decimal place if it is not exact.

(a)






[image: image45.jpg]5.2 cm




(b)

[image: image46.jpg]14.72 cm





(c)
[image: image47.jpg]4.16 cm

9.87 cm






5. The diagram below shows a right-angled triangle ABC.

[image: image48.jpg]19.89 cm

12.72 cm




(a) 
Find the length of AC, giving your answer correct to 3 significant figures.

(b) 
Hence, calculate [image: image50.png]


ABC, giving your answer correct to 1 decimal place.

Further Practice 10.1C

Basic

1. Use a calculator to find the value of each of the following. Give your answer correct to 3 significant figures if it is not exact.
(a) 
cos 14°
(b)
cos 72°  



(c)
cos 52.1°  

(d)
cos 38.89°
2. Use a calculator to find [image: image52.png]


A for each of the following. Give your answers correct to 1 decimal place.

(a) 
cos [image: image54.png]


A = 0.214 

(b)
cos [image: image56.png]


A = 0.583  
(c)
cos [image: image58.png]


A = 0.365  

(d)
cos [image: image60.png]


A = 0.911
 Intermediate

3. For each of the following triangles, calculate [image: image62.png]


x. Give each answer correct to 
1 decimal place if it is not exact.

(a)





[image: image63.jpg]/.1 cm

4.9 cm




(b)




[image: image64.jpg]10.7 cm 13.3 cm





 (c)

[image: image65.jpg]13.08 cm

5.72 cm




Challenging

4. For each of the following triangles, calculate [image: image67.png]


x. Hence, calculate [image: image69.png]


y. Give each answer correct to 1 decimal place if it is not exact.

(a)






[image: image70.jpg]1/7.2 cm






(b)
[image: image71.jpg]X 3.6 cm
2.2 CM





(c)

[image: image72.jpg]11.13 cm

/.89 cm




5. The diagram below shows a right-angled triangle ABC.

[image: image73.jpg]A 10.22 cm C
L

14.81 cm





(a) 
Find the length of AB, giving your answer correct to 3 significant figures.

(b) 
Hence, calculate [image: image75.png]


ABC, giving your answer correct to 1 decimal place.

Further Practice 10.2

Basic

1. In the given triangle, a is unknown, and two of the three sides labelled, x, y and z (Opposite, Adjacent and Hypotenuse) of the right-angled triangle are known as indicated in the table. State the suitable trigonometric ratio that can be used to find the angle.

	x
	y
	z
	Trigonometric ratio

	7.225
	4.328
	
	

	7.225
	
	8.422
	

	
	4.328
	8.422
	


[image: image76.jpg]



2. Find the value of x for each of the triangles. Give your answers correct to 3 significant figures.

(a)






[image: image77.jpg]



(b)
[image: image78.jpg]22°





(c)
[image: image79.jpg]27 mm

e




Intermediate

3. The cross-section of a mountain is shown below. If a mountaineer has to ascend a height of 3864 m, how high is the mountain from ground level? Give your answer to the nearest metre.
[image: image80.jpg]



4. A farmer has a rectangular plot of land. He intends to divide the land through its diagonal by fencing it up. Each metre of fencing costs $27.61. How much will the farmer spend on fencing? Give your answer correct to the nearest cent.

[image: image81.jpg]



Challenging

5. Ahmad’s kite is stuck on top of a tree that measures 3.52 m. He stands on a 0.5-m platform to see if he can reach the kite. The height from Ahmad’s eye level to the platform is 1.57 m. If Ahmad is 0.45 m away from the tree, what is the angle formed from his eye level to the kite? Give your answer correct to 1 decimal place.
[image: image82.jpg]1.57 m
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